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1. (1) y =sec®x
(2) yIZEZX—lyZ
2. xy'=y*+y (hint: u=l)
X
3. y'=1+4y*, y1)=0

4. 4yy—e* =0, y1)=2

. XXy +Yy?
5. y:#
X
TiRE:
1. (1) y'=sec’y :ﬂ:seczy: 12
dx cos”y

= cos’ ydy = dx
(3 B4 A) :>.[cos2 ydy:.[dx

1+cos2y
:ITdy_ X+¢,

:>1y+£sin2y+c2 =X+C
27 4
:>1y+£sin2y:x+c
2° 4

(2) y.= e2X—ly2 :ﬂ _ e2x—1y2

1 .
(3 BHA) :>j7dy=je2 tdx

CaA
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y=Y Y Suxtu=uix+u
X X
=u'=u’
1
= —-du =dx
u

CET 2 :juizdu:jdx

1
= -—==X+C

u
X
= -—=X+C
y
—X
oy
X+C
3. y'=1+4y2 = dy = dx
y y 1+4y? 7
3 3 A = dy = | dx
(% #4EA) j1+4y2 y=|
1 1
£ y="tand =—sec’6do
y > =Y >
[ ay=Jax = 2[27 dp- o
1+4y® 1+tan’ @
:»jdezzjdx
= 0=2X+cC

= tan"(2y) = 2x+cC
= 2y =tan(2x +c)

=>y= %tan(Zx +C)

A~y =0t &7 x=1pF> y=0 Fw
tan(2+c)=0 =2+c=0
=>Cc=-2

y= %tan(Zx -2)

4. 2eY —e*+2e* e

5 tanL=Inx+c
X
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